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101 o124l 168,896 164,915 3,981
03 RINHA22 4 142,883 138,902 3,981
O&H0I58(2F) 118, 154 114,173 3,981
l23 AW 2,435,0708 * 122 29,221 26,835 2,386
4013 19,670 18,075 1,595
SOlZaY AH 3,576,5008 * 43 * 1/2 7,153 6,753 400
Hoag HF 3,576,008 * 23 * 1/2 3,576 2,881 695
M2t chet bl
AN 3,576,4002 * 53 * 1/2 8,941 8,441 500
|2 (A Z0) 51,663 51,563 100
2B (A ES) 51,663 51,563 100
201 LByl 24,663 24,563 100
01 Attt 21,410 21,310 100
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O & AFR L HAIH M= 1,500 0 1,500
02 2B2H| 11,910 9,872 2,038
OFA Hole3 ZH 4,700,0002 4,700 3,508 1,172
OFAN 2523 ZH 748,0002 748 336 412
OsFNE RS 272 192 80
-2 2s 2% 76,1608 77 100 ~23
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orsg 1,664 1,290 374
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O&4t DiSet2 & s2ZF(110m)
a3 12,973,000 12,973 15,000 A2,027
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O2% 2L 22| ARy
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ZOIBOEY KAWL (2ZH) 230,000 230,000 0
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300,008 * 5JH4 1,500 0 1,500
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OS2l 8142 &1l (50m) 2 8,000,0002 8,000 8,500 A500
OSJl 2HA X (3m) 23 6,200,0002 6,200 20,000 A 13,800
OME 24X L ZH(50m)
2 6,400,0002 6,400 10,000 A3,600
O8Y =2 % E(200m) 23 18,700,0002 18,700 20,000 A 1,300
O 1423 Hl(45m) 33X 3,430,000 3,430 5,000 A1,570
O== =2 3dI(100m)  3F 11,920,0002 11,920 13,000 A1,080
O&td otA2 IMI|(7a) ZH 7,580,000 7,580 11,000 A3,420
O&HS Hi4=2 & X1 (90m) 33 6,370,0002 6,370 7,000 AB30
O%4 =24 X(23m)  FH 16,740,000 16,740 20,000 A3,260
O£ =2 X (90m) 2% 8,700,0002 8,700 10,000 A 1,300
OXE 2HAX(4m) A 17,850,000 17,850 20,000 A2,150
OH8 =74+247%(43n) ZH 6,280,000 6,280 9,500 A3,220
O=s A W& H(6.5m) 3 o 0 3,000 A3,000
Oatel =2 E(90m) A 9,410,0002 9,410 10,000 A590
OO0t 2= 4X(23m) 4,670 0 4,670
OZE= ti4+=2 & XI(188m) 12,420 0 12,420
o= M&EFGI(42m) 11,320 0 11,320
O#2 M FHI(18m) 7,330 0 7,330
OR4242 =2 Z X (13m) 1,520 0 1,520
Oafelt =2 & XI(16m) 2,870 0 2,870
O&fel2 =24 Xl (100m) 7,920 0 7,920
Oael s2ELE(78m) 8,210 0 8,210
OYH =2LEX(42m) 4,560 0 4,560
OftE =2 E(42m) 4,550 0 4,550
ODFE OtAR2HMRI| L B2 FHI(11.6a) 32,220 0 32,220
Oxg =22 F(130m) 13,320 0 13,320
OALE 22H=2 Hi4=2FHI(45m) 4,550 0 4,550
OAME ME SEZ4H(14]) 9,920 0 9,920
OTHII Bi#=2 X8I (13m 2,230 0 2,230
OANE ZeHR s2ZH(216m) 21,470 0 21,470
OWE HH=24 XI(38m) 7,500 0 7,500
OBAIR A FHEHI(14]) 3,830 0 3,830
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